
SIGNO
BMW
3er GT (F34) 06/2013–

7

®

✔

®

1

2

8

Atera GmbH
Im Herrach 1
D-88299 Leutkirch
Internet: www.atera.de

 
  

 
   

     
 

SIGNO

061 802 - Stand 04 12 2013 Rev.00

Part-No. : 044 192

Part-No. : 045 192

4,5 KG044 192

4,0 KG045 192

KG KG KG
KG KG KG

KG KG KG max. 
75 KG 

BMW
3er GT (F34) 06/2013–
Part-No. : 044 192
Part-No. : 045 192

15
16

17
1 2

3
4

6

14a (FL)
14b (FR)
14c (RL)
14d (RR)

7

8

9

5

 1-  074 110
 2-  093 357
 3-  092 683
 4-  088 184
 5-  092 043
 6-  092 045

    7-  092 044
    8-  087 886
    9-  093 491
10a-  093 337
10b-  093 280
  11-  092 198

  12-  087 909
  13-  092 037
14a-  097 578
14b-  097 579
14c-  093 981
14d-  093 980
   

12

10b RL+RR(M6x30)
10a FL+FR (M6x35)

8

093 85411

nur bei/only for
Part-No.: 045 192
15-  092 075
16-  093 110
17-  092 071 

13

®

10

9

nur bei / only for Part-No.: 045 192



SIGNO
BMW
3er GT (F34) 06/2013–

SIGNO
BMW
3er GT (F34) 06/2013–

F L

R L

F R

R R

ca. 6 Nm TX 30 (Part.No. 093 854)

6

®

1 2

2

ca. 2 x

TX 30 
(Part.No. 
093 854)

1

3

5

5

F L

R L

F R

R R

F L F R

A2A1

R L R R

B2B1

A1 = A2

B1 = B2

F L =  0 9 7 5 7 8     F R =  0 9 7 5 7 9

R L =  0 9 3 9 8 1     R R =  0 9 3 9 8 04

F L

R L

F R

R R

6 - 8 Nm

TX 30 (Teile-Nr./Part.No. 093 854)

1

2

✔
3

FL= Nr.097578
FR= Nr.097579
RL= Nr.093981
RR= Nr.093980

FL+FR =
093 337
(M6x35)

35
 mm

RL+RR =
093 280
(M6x30)

30
 mm

5


